|_| restart;maple_mode(1);cas_setup(0,0,0,1,0,1e-10,10,[1,50,0,25],0,0,0); #radians,pas de cmplx pas de Sqgrt
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a priori il faudra degree(P)-degree(Q)+1 divisions par le coeff dominant de Q,
ce qui explique le coefficient multiplicateur.

3 | pseudiv:=(P,Q)->rem(lcoeff(Q)"(max(degree(P)-degree(Q)+1,0))*P,Q);
/I Success
/I End defining pseudiv

(P, Q ¥> rem( Icoeff(Q) max(degree( P) - degree( Q) +1,0) . PQ) JA.EE

5 | Prog Edit Add | nxt | OK | Save |

eucl 1: =proc (P, Q
|l ocal R1, R2, R3;

Rl: =P; R2: =Q

while (R2 <>0) do R3:=pseudi Vv(Rl, R2);
print(R1);

R1: =R2; R =R3; od;

R1;

end;

/I Warning: pseudiv declared as global variable(s)
/I End defining eucll

proc(P,Q) =

local R1,R2,R3;

R1:=P;

R2:=Q;

while R2<>0 do
R3:=pseudiv(R1,R2);
print(R1);
R1:=R2;
R2:=R3;

od;;

R1,;

end;

|6_IP::(X+1)"7—(X—1)’\6;
ocr )’ - (x-1)°

7 |eucl1(P,diff(P,x));

R1:(x+1)"7-(x-1)"6

R1:7*(x+1)"6-6%(x-1)"5

R1:162*x"5-390*x"4+1060*x"3-780*x"2+474*x-78
R1:5680080*x"4-6091680*x"3+10471104*x"2-3655008*x+1009008
R1:17080988542248960*x"3-8939656659548160*x"2+9874611277977600*x-1277093808506880
R1:1620751818387361789401766420835362406400*x"2-416420788246156138518908596501925068800*x+226
R1:16601080599279110052908839302615690450580626256882195477399064794823467416168431766994944

55334858510813000659552233196155476678357253974299742428215010236397972196587317675022338073




9 | Prog Edit Add | nxt | oK | Save

subpgcd: = proc (P, Q
local Rl,R2,R3,0,d,delta,p,aq;
p: =content (P); q: =content (Q ; d: =i gcd(p, q);
if degree(P)< degree(Q
then Rl:=normal (Q q); R2: =normal (P/p);
el se Rl:=nornal (P/p);R2:=nornal (Qq);
fi;
R3: =pseudi v( R1, R2) ; del t a: =degr ee( R1) - degree( R2) ;
h: =1; g: =1;
whil e degree(R3)>0 do
print(R1);
R1: =R2; R2: =normal (R3/ g/ h”delta);
g: =l coef f (R1) ; h: =g"del ta/ h"(delta-1);
R3: =pseudi V( R1, R2) ; del t a: =degr ee(R1) - degree( R2) ;
0a;
if R3==0 then nornmal (d*R2/content(R2)) else d fi;
end:

/I Warning: pseudiv h declared as global variable(s)
/I End defining subpgcd

Done

10|subpgcd(P,diff(P,x));

RL:XAT+6*XM6+27*X"5+20*X 4+55*X"3+6*X 2+13*X
R1:7*x"6+36*x"5+135*x"4+80*x"3+165*X"2+12*x+13
R1:162*x"5-390*x"4+1060*x"3-780*x"2+474*x-78
R1:115920*x"4-124320*x"3+213696*x"2-74592*x+20592
R1:271075840*x"3-141872640*x"2+156710400*x-20267520
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